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PART A
GENERAL ENGLISH (Marks : 25)

Read the passage carefully and the correct answers for the questions that follow :

The role that the newspaper plays in delivering the news of the day is obvious but it does much
more than that. The newspaper constructs a sense of continuous time that moves sequentially
in discreet steps. As we hold the morning paper with a cup of tea in the other hand, we assume
the vantage position of overseeing the world that is relevant to us and examining its state at
a glance. The world may be full of chaotic events that we cannot comprehend but the newspaper
packages it for us in terms we become familiar with and things appear to be within control.
Order and its primacy is implicit in the idea of a newspaper, unrest is a deviation from which
the world will eventually recover.

1. The passage is about :

(1 Reading (2) Newspaper
(3) Tea (4) Time
2. We glance at the :
(1) World (2) Tea
(3)  Events (4) Idea
3. What is delivered through newspaper ?
(hH Packages (2) Familiar things
(3) Unrest (4) News
4. The world is full of :
(N Discreet steps {(2)  Chaotic events
(3) Deviation (4)  Implicit idea
5. The newspaper constructs a sense of -
(1) Continuous reading (2) Continuous drinking tea
(3) Continuous examining (4) Continuous time

6. Choose the sentence with appropriate articles :
(n The table is in the midele of the room.
(2) Table is in middle of the room.
(3) A table is in middle of a room.
(4) The table is in the middle of a room.
7. Fill in the blanks with appropriate articles :

She lives with two friends in .........cccccoeeriniinne flat near .............ceeencee... coOllege where she
is studying. .........ccceceeeseeeneneee. flat is small but she likes it.
(1 a, an, the (2) the, the, a
(3) a, the, the (4) an, the, a
8. Fill in the blanks with appropriate prepositions :
There is & MO ...cccceviveccncsecnnnnnnee WL o ciiennssiasssuiniine the living room.
(1) at, on (2) in,at
(3) by, in (4) on,in
BS 3 A
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Fill in the blanks with appropriate prepositions :

The dog swam ........ccccrenruerennneee. the river when a plane flew ...............c............. the village.
(h through, around (2) across, over

(3) into, over (4) from, across

Fill in the blank with an appropriate verb form :

Do you think the exam ........coceceureennen. difficult ?

(1 will be (2)  will have

(3) would have (4) will have been

Fill in the blank with an appropriate verb form :

She got the job because she ... speak five languages.
(I)  could (2) can

(3)  cant (4) may

Choose the word spelt correcly :

(1)  exeltation (2)  examanation

(3)  exaggeration (4) exasparate

Choose a synonym for the word underlined :
The rapidity of bacterial reproduction is astounding,.

(1)  producing (2) creation

(3) breeding (4) -« Iving

Fill in the blank with the most suitable word :

She is the MOSt .....ccceueeeremserarsaraness candidate for the post.
(N eminent (2) enable

(3) illegible (4) eligible

Give the appropriate indirect speech form/of the following sentences :
They said to us, ‘Grow more trees’.

(1 They advised us to grow more trees.

(2) They told us to grow trees.

(3)  They informed us to grow more trees.

4 They instructed us to grow trees.

Choose the passive voice form of the following sentence :

We have posted most of the invitations.

(1)  Most of the invitations were posted.

(2) Most of the invitations have been posted by us.

(3) The invitations have been posted by them.

(4)  Most of the invitations have been posted.

Choose the appropriate active voice form of the following sentences :
I was given a gift by my friends.

(1)  Friends gave me gift. (2) Friends gave gift to her.
(3) My friends gave me a gift. (4) My friends gave a gift for me.
4 BS
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The shirt is very dirty to wear.

This sentence can be re-written as :

(n The shirt is dirty to wear. (2) The shirt is untidy to wear.
(3)  The shirt is dirty for wearing. (4)  The shirt is too dirty to wear.
The flag was unfurled by the Governor.

This sentence can be re-written as :

(1) The Governor unfurled the flag.

(2) The flag was hoisted.

(3)  The flag was unfurled by Governor.

(4)  The Governor unfurled flag.

The Judge ordered the witness to tell the truth.

The direct speech form of this sentence is :

(1) The judge told witness — Tell the truth.

(2) *Tell the truth’, the judge told.

(3) ‘“Tell the truth’ the judge asked the witness.

(4)  The judge said to the witness, ‘Tell the truth’.

Fill in the blank with an appropriate phrase :

My shoes have ............cciinreninnnnes , | need new ones.
(1) torn out (2) wom out
(3)  thrown out (4). " left out

Identify the grammatically acceptable sentence :

(1 I went to Bangalore last week.

(2)  The bicycle is belonging to me.

(3)  She is liking her sister very much.

4 What | can do for you ?

Identify the grammatically acceptable sentence :

(1)  They asked me where was I going.

(2) When [ reached the station, the train had left.
(3)  She went to London, isn’t it.

(4)  The door bell is ringing for the past ten minutes.
Fill in the blank with an appropriate phrase :

She.. the children when they broke her windowpane.
(1) screaned out (2) scolded out
(3)  shouted out (4) called out

“Clean the black-board”, the teacher said to me.

This sentence can be re-written as :

(1)  The teacher told me to clean the black-board.
(2)  The teacher told her to clean the board.

(3)  The black-board should be clean the teacher said.
(4)  The teacher asked me to clean the black-board.
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PART B

GENERAL KNOWLEDGE AND TEACHING APTITUDE (Marks : 25)

Babita Kumari, who was conferred with Arjuna award 2015, is associated with the following

sport :

2015 6° ©HS ©NT08S wrhE Hurd 808 IE° K §6%H TodISSH?

(1)  Wrestling (2)
a§c§

(3)  Archery (4)
&EJE\

Athletics
0z 85
Hockey
se8

which among the following Mudra is the gesture of Buddha as depicted in his first

sermeon .

808 &RE° WD @), FEIET Insd M@ & Do DB¥BoTwbE0b.

(N Abhaya Mudra . (2)
woh SoE

(3)  Dharmachakra Mudra (4)
FHEE &

Ranji Trophy 2016 is won by :

Dhyana Mudra
orgd 0|8
Bhumisparsa Mudra
gyt &nE

2016 $0.6° Sod (°D ASH BevHBTH?

(1)  Delhi ()
&9

()  Saurashtra @)
Deoe &

Kamnataka
soe (311
Mumbai
SwoBd

2, 4-D, which is sold as a weed killer of the broad-leaved weeds is a synthetic version of :

¥eud) I JFowod 2,4-D Glud)y. HHy@sHh redo

(1)  Cytokinin Hormone 2
?}_dﬁ"’ims #5‘&5
(3)  Xylitol 4)
2065
6

287
Auxin Hormone

of)S H6°S

None of these

A we&h
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30.  India’s Permanent representative to United Nations is :

pigoreg SHBET PrEE Ay RS (SIS JSE?

(1) Amitabh Kanth (2) Syed Akbaruddin
wders seod Sahgd Eaﬁ:&ng
(3) Dr. Kamlesh Kumar Pandey () K.N. Vyas
Gv. ¥585 Hdrs HFod 3.3 agl

31.  Who was the first person to receive Jnanpith award ?

a:_asim O ol BoLInSE Sg8 ASEH?

(1) Sankara Kurup (2) "i"arashankar Bandyopadhyay
Fo¥6 Btred acoedosb mos"ﬁaq*gaﬁm
(3)  Kuppati Venkatappa Puttappa (4)  Umashankar Joshi
Sodd Josewd aﬁg% ) asSryosf &%
32.  “Marvin Minsky”, a scientist is associated with :
Ssop eIIE ‘oS DAY, Bo8 @AET K JerrdE FobIH?
(1 Cliodynamics (2)  Synthetic Biology
Sair 3aby posaE waired
(3)  Nuclear Physics (4)  Antificial Intelligence
Srg8ohb &by 801V gouBS)

33. Who among the following was the first President of Constituent Assembly ?

ccegol S anE. SnEd oFgHhE JIIH?

(1 Dr. Rajendra Prasad (2) Jawaharlal Nehru
ar. B |SFE sISbord I
(3)  Sacchidananda Sinha (4) Dr. B.R. Ambedkar
SDSos e a. Db ooBE) 6

34.  25th December is celebrated as -
Ghonb 255 % DForr sHHKoweH?
(I)  National Good Governance Day (2) National Integration Day

2800 DFbIeS B85 HF0 grddh IHE 85 &S0
(3) Blood Donation Day (4) National Heritage Day
sEarS 85 &S0 w8dh FESE B0
BS 7 A
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One of the following is an artificial port :
808 rd86° 58 L40H 282

Vishakhapatnam
e eSen o
Chennai

R

Which of the following countries was rated First in the UN World Index Happiness Index

ofgoreg S8 (S0 S08%8 Srd 2015 &° 3wusd 3;5::-6'5 NODS d¥e

(1)  Marmugao (2)
ﬁ:ﬂﬁ:&ﬁ*

(3) Kandla (4)
woa®

2015 ?

2&?

(1) Denmark (2)
@) 6y

(3) Iceland ' ()]
a:a:ag

Switzerland
ekl
MNorway

g

First state in the country to introduce compulsory gender education at graduate level :
3¥06° Dorf Sowodd J&gH B Frowd® FHIGE IS wrFo 28?

(1) Goa @
e

(3)  Telangana 4
B000PE®

Kerala
Elst
Meghalaya
hsredd

‘Project Loon’ is a project being developed with the mission of providing :

‘@25 orS 308 Somododsa?

(1) Shelter for homeless (2)
Dok S Ss8

(3)  Touch pads to school children  (4)
Sy & ;}mgﬁgwﬁb &S5 Foghy

Internet access

gowy & Heond

Schools in the slums
S088,EED Erow

Which of the following rulers of India issued Mahzarnama to take all the religious matters into

his own hands ?

HE SowodDs Jatreos® d¥ano 855883608 @830 ‘el oesh’

5 28308 Fodh A5H?

(1)  Akbar @)
o6
(3)  Shah Jahan @)
et S
8

Jahangir
ssvohb

Aurangazeb
T ooNES
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India’s first organic state is :

grE86° FwEd Do@ad oo 26?

(1) Kamataka (2) Himachal Pradesh
ey rarss |S3T6
(3)  Punjab (4)  Sikkim
Soeed ®8y0

How will you maintain discipline among your students ?

Bl 5@3%&6’“ |Ea08Fee Sec o”odoHeh?

(H By appealing them (2) By threatening them
a8l sﬁggmﬁaﬂ oo oe =B e{}’dﬁ'ﬁ:&ﬁ&; g o°
(3) By beating them (4) By giving them responsibility
=80 5"#-:3&: e oe 88 $Q =maBape (Responsibility
mﬁguo} argo®

What will you do for making the teaching efficient and interesting ?
5°¢S |S8prJodor HOan eIE¥For dobedH I IEH?

(1)  Teach with books (2)  Present practical examples

HSre oeoe §°H0BED sl G indine ogoe
(3) Dictate notes (4) Introduce long stories

S'Ey 436 Bowe e E Sgo | FFTDwe agoe

The achievement of evéry student in a class is not same :
B568 Ka&° B S}aﬂgg FES e¥d s
(1) Concentration and habit of hard work is different
Gyt Bo|B8tm Mok FHSE thodn IO
(2) = Teachers are often prejudiced :
adrgrgdiven S5 SHFrE Ipd |FS8owhe
(3) Students do not study sincerely
amgﬁgm Derondy IESH
(4)  Adbilities of each student are different
8 daegd Eﬁ‘ﬁaggainm &

9
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Co-curricular activities have the following most important value :
S5 ar¥g (HoeRE sefgEhaner S (808 ©38 Swag Jed ¥OAHG .
(1)  They build school spirit
©d FEro I8 KeotfE e om
(2) They develop attitude and skill
©d Ipd Hoon [Hhmgse DoCodIow
(3) They secure popularity
©d (@rEIgEnD SBoSHI8 0w
(4) They compensate dull class work
©d JoDS KB #8 SID wone 06 (Compensate) P on
Which of the following is more important in order to join teaching profession ?
808 &AE° D6 adrgrgah HHBR JeFloHes® SuepgHse?
(1 Belonging to a family of teachers
ﬁ%ﬂgﬂgdﬁ HSos38 5OAS &3 @oad
()  Centificate of Activities |
wogfordre (Activities) $y030m soaed
(3 Teaching Aptitude
H¢ o SSeerdsn  (Aptitude)
(4) Percentage of marks
drdn e FEan
The role of teacher in Higher Education :
@& Emga‘;wé’i ﬂ%ﬂ@“go&nm SR
(0 Solve students personal problems
&'}a‘gﬁge S8 g ShIgod Hof Bohass
(2) Give information to students
Eimvgt‘gaéo S&rwrfo wolodhak
3) Develop self-learning in students
bgoh eggseed) @S irodek
(4) Inculcate healthy competitive spirit among students

dargtho HEg aﬁsdgéué&:ﬁ ¥ rerdfmo AHSHOK
/ * o

10 BS
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The main purpose of using audio-visual teaching aids by the teacher is :
& arEeg oo ﬁaig—@’&ia‘é"ségﬁm‘m ND@BrehoSE0E®D Sowg ﬂréﬁgu:
(n To deliver more knowledge
B0y w0 wolothel
(2) To develop curiosity in students
E}mgtgaé'ﬁ w380 ¥DAoHe%n
(3) To understand easily
Sogor oSmEes ©Sads
(4)  To develop understanding quickly
[o3d o T~T 1o @E&Saéu B fenetlol-0)
Expected changes in individual’s behaviour are called :
538 | ISENE° wBoDS SrEposH Fsor Dewds i

(1) ° Motivators (2) Experiences
(28zmen s chefaren

(3 Achievements (4) Oulcomes
oSEeen Ganderen

SCERT stands for :

SCERT aicme:

(O State Council of Educational Research and Training
c‘ﬁ Darg S88°6 S BEe ﬁo%
(2)  State and Centre’s Employees Record Transfer
o 08k Bos a8 gthe 8ot wEeronod
(3)  Supplementary Centre for Education, Research and Training
Dy, BOT LS Hdan Ve 5%3&0&.}5 BoSo
(4)  Source Centre for Employees Record and Training
a&°gihe Beedh HOon Y Swro Bo&o
Which is the important factor for classroom leamning ?
s5H68 1o Eigfgtﬁn‘dé'ﬁ Sopgds seEF® & ?

(n Lesson outlines (2) AV aids
Fegod E‘éggcg;) &3%3 FS S S5 T@en
(3)  Motivation @) Discipline
(@8 FH 3w
11
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PART C
BOTANY
(Marks : 50)
Phycology refers to the study of :
A8 oFganaedy Pod woer

(1) Algae (2) Fungi
ISoren 3do|gren
(3 Lichens (4) Pathogens
nﬂ_ﬁ;‘d}h ae gﬁ BT

What is the fruiting body in Peziza ?
2BerE® Joororsn AE?

(N Cleistothecium (2)  Perithecium
§13:5 HaHo 288da%o

(3) Pseudothecium (4)  Apothecium
Gre&¥8dabo QBB Ao

In Bacteriophage life cycle, ‘Ghost’ refers to :
ord8@rded 408 IFos® ‘F°5 enss
n Bacterial Nucleic acid N
wﬂgﬂdﬁ'ﬂ ECTE B
(2) Nucleic acid of the Virus
365 Bowaho
(3) Phage protein coat outside the bacterium
erdBato Sewde WHOS FE PES s8I0
(4) Phage protein coat inside the bacterium
or88abo 650 d R4S vso
Bacterium with more number of flagella at one pole is known as :
ed o BHC IBnS Sowgs® Yegren EOAS aﬁﬁﬁoﬁoﬁz goe ©woer:

(1)  Lophotrichous (2)  Atrichous
ﬁ@ﬂgsﬁ JBES

(3) Peritrichous (4)  Amphitrichous
ELEE 5] soH HED

Which of the following have the bacterio chlorophyll & and b ?
& B o8&t ﬂ‘gﬁﬁ;‘ 5°6°06 o, & 3IE° @odn?

(1) Azospirillum (2) Beggiatoa
aé"’z:;) oo b} Q aH& e
(3) Rhodospirillum (4)  Rhizobium
5“5‘3355.: IE Bavo
12 BS
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Which of the following is an example of Coenobium ?

BiHS LS PSS 1SDabod woeFSe 6?7

(1)  Volvox (2) Oedogonium
arerg by & A*Adbo

(3) Chlamydomonas (4) Polysiphonia
TRE IS PO RYPEJawe

Chara nuda is endemic to this country :

o0 Srgae S D8 SODEDS QoBWE =8

(1)  England (2) China
aan:ug E:ﬂ‘

(3)  Sweden (4) India
RES gobaim

Cap cells are characteristic feature of :

&% sarer 8D ($8g¥ ofwo

(1) Chara (2) Oedogonium
BeOP e5%5%a%0

(3) Volvox (4) Ectocarpus
arere By QE:E“‘:S;)E

Which alga is the source of iodine ?
a@dr85% 3dvo SSHe @od?

(n Chlorella (2) Gelidium
§*3er 2d&a%o

(3) Laminaria (4) Microcystis
e I8ate DSHDS

What is the mode of sexual reproduction in Mucor ?

ai::ngaﬁgé'ﬁ d o¥o Sohs (S&gE 8 sHHGH?

(I)  Planogametic copulation (2) Gametangial contact
do¥o @rd Ds Sodrfo  Soded Der¥are HY)
(3) Somatogamy (4)  Gametangial copulation
e8ah Soa@rKo Sodirer Bevare SodrHo
13

www.sakshieducation.com



61.

62.

www.sakshieducation.com

Heterothallism in fungi was discovered by :

ogres® w6 Dm0 (¥ DomFanEo) YSHA°H 6

(n Blakeslee (2)
EJ:E;EJ

(3)  Alexopoulus (4)
©88%*el

Pontecarvo
Fo o6
Waksman
By S

Which type of conidia are present in Alternaria 7

Eﬁfglﬂﬂﬁ‘éﬁ & U¥o 58dr @woermon?

(1 Phragmospore (2)
Tl

(3)  Dictyospore (4)
&8arRe6

Didymospore
&&a:vﬁrﬁ;}g
Amerospore

025 V6

What is the first product of Photosynthesis in CAM plants ?
CAM Snfyo6® 89 8Swadg Sodrd Babe adygo 962

(n Aspartic acid (2)
E%EE B.;é_:: o

(3) Glutaric acid (4)
i‘?:_le:lﬂﬁg Hai::ﬂﬂ

RQ is the ratio between :

E&Eﬁ:g & g 8.

(1) €O, released and O, consumed (2)
DEHEBS CO;, AAAErHoDY 0,

(3) CO, consumed and 0, released (4)
AXErHoDS CO,, AEEBS O,

PSI, mediates this electron transport :

PGA
SERGH
Malic acid

SredE Hﬁaho

CO, released and O, released

VEHESS  CO,, VEEBS O,

CO, consumed and O, consumed
Ad@rAods CO, AV@rAodS 0,

T8 S8 | B dowd Trardh SPFESEH&08.

(1) Ferredoxin to Plastocyanin (2)
DS Hob FRESAISH
(3)  Pheophytin to Plastoquinone 4)
PErDES Kod E:ﬁ:ﬂg)ﬁﬂgﬂn

14

Plastocyanin to Ferredoxin
SVEZANAS S08 PBar8 5K
Phastoquinone to Pheophytin
PSS Ho8 J@~PESKH
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How many number of large and small subunits are there in RUBISCO ?
RUBISCO (%08%).) So&H 28, O olSdrare Soip?
(1) 8 LSU, 8 ssuU (2) 4 LSU, 4 SSU

(3) 6 LSU, 6 SSU (4) 8 LSU, 6 SSU

The molecular formula of chlorophyll *a” is :

5':5‘5&95_ ‘d’ om Soddo

(1) CssHzgOgNsMg @) CssHpOsNMg

() CssH7506NsMg (@) CssHygO6N Mg

Which of the following is the unit of Photosynthesis ?

S FEE° 8medy SodrHfdd |SSrwmo 87

(1) Phytochrome (2)  Cytochrome
DEUES ' DEETS

(3)  Quantasome (4)  Thylakoid
TRoOTED Fowrans

Stomata are almost equally distributed on upper and lower surfaces of the leaf in :
& ST mgg, wog® e g ﬁﬂ"-’%ﬂ-:-i &|8 Sogren arors) Ssoedorr DEdm

Do wodrrawn

(1) Avena (2) Triticum
®dige Fee0aH

(3)  Ricinus (4)  Helianthus
saudo 33‘::23 (oo ¥

‘Little leaf” disease symptoms are associated with the deficiency of :

‘5}5& e’ Stheo ofwrey 80 %o JoF Fewiheraw

(1 Mn (2) Fe
G) o @ Cu
15 A
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Which of the following is a day neutral plant ?
OMS YN T8E° Shwe Sus Iwy H8?
L

(1)  Amaranthus (2) Tomato
®HPod S E°ires®

3) Cannabis (4) Onza
Ko 6 58

Which is a ripening hormone ?

Ssendy ‘66%8’ 242

(N Ethylene (2) ABA
adds SEAN

3 IAA (4) Gibberillin
Do 2008

Ruminate endosperm is the characteristic feature of the family

Sredodes Lo do o Hewon Souwg Ofwo

(1 Fabaceae . (2) ° Annonaceae
B0 BS a0

(3)  Lamiaceae (4)  Asteraceae
e ahd ®I3D

Which Rutaceae plant has hesperidium type of fruit ?
Teybaabe Fosuiie wrBhd awy 06?

1)) Citrus aurantium (2) Feronia elephantam
MEOS @Edabo 260 DO Dowo

(3) Toddalia asiatica (4) Chloroxylon swietenia
Grardate dDatedy §5°6°8erS Mgddate

Velamen roots are present in this plant :

derdS Jh ¥OS 3wy 86

(1 Orchis (2) Vanda
95&.5 aroae
(3) Spathoglottis (4) Vanilla
Bgtﬁ“ﬁ:éﬁ P>
16
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Guar gum used in paper industry is obtained from :

=h8o IPFHE” ITBrAod A Ewo¥ B Hob eboshih

(n Vicia faba

(2) Glycine max

Qdage  Feere 32§ by

(3) Cymopsis tetragonoloba (4) Cicer arietinum
RarednG DSt S Ser 286 d880

Which type of fruit is present in Apiaceae ?

ADEHOEE D F¥o Jesw @oenod?

(1) Caryopsis (2) Cremocarp
5§55 Dexo EESES

(3) Carcerulus (4) Cypsella
oS &3ner

In which family corollary corona is present ?
§°670b 6% ¥OA ad) Hewowo D87

(1)  Capparidaceae
Samedd
(3) Asclepiadaceae
B HAHTD

(2) Cucurbitaceae
ST

{4) Orchidaceae
a8 @D

The air spaces in the cortex of the stem of Equisetum are known as :

Selgdbo wodY dpeod® wod ooty (FEeodH ger B0

n Carinal canals
588 d sPegen

(3) Vallicular canals

(2) Cortical canals
Ja&u Freudden

(4)  Adventitious spaces

m@ﬁ:gm’vé—' Trensien wandsy Sdeen

Archesporium in Anthoceros develops from :
@05 Hoeh &’ ?o::g BeroSdo 82 %ol ‘5&}% Bo&r&od

(1 Endothecium
wos5S o

3) Exothecium
2858 davo

(2)  Amphithecium
gTe 55 g8 o

(4)  Apothecium
Q&S Habho

17
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Peppermint oil is extracted from :

260 SrIH Y N8 BF:H

(N Mentha longifolia (2) Mentha pulegium
Fooge eroADEdAle doge HOBalo

(3) Mentha piperata (4) Mentha arvensis
duogve ?_._:.;Sﬁmr Soge 33:%5

In the inflorescence of Poaceae Lemma represents :
DD Boewondh HE dorgSed” By A ($8IS

(n Fertile glumes (2) Sterile glumes
FoHosRsS Eapen Sogg &iaren

(3) Fertile Palea (4) Sterile Palea
foSods Ddar Sogg wOar

Which family has horse-shoe shaped Ovules ?
Q Hewowo HIEHITE ©5)8E° @wod eoaEd 58Hoenod?

(1) Lamiaceae (2) Asteraceae
e CEELS

(3) Mimosaceae (4)  Amaranthaceae
SIS ©HToFn

Which of the following family has the species with coloured bracts ?

Be &K O Kevomod® ﬁgcﬁnﬁ Hshyedheyen ¥DAcuod =8 SwE e G o&Tow?

(N Capparidaceae (2) Asclepiadaceae
3BED Sy HADTY

(3) Fabaceae (4) Euphorbiaceae
BN maﬂaadizh

The function of endothecium in the anther is :

Soors . 5%%06® 2088 0dbo 28

(N Nutrient supply (2) Protection
Fgkmeen wodBaheo Sge
3 Spore dispersal (4) Controlling sterility
ngﬁ&: gy Soggdy AdHoSw
18
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What is the inner layer of the pollen grain ?
Soetidowadd 6 50 D5 2867

(M

3)

Exine
SEN]
Intine
80 BRS

(2) Sexine
GEN)
(4) Nexine
TS

The number and position of antipodal cells in embryo sac is :
0&5%%os"® |S8arsE Here Sowmg, -.3;651:-

(N

(3)

Two, Micropylar end

Toth, wodolo S

Two, chalazal end

Bodh, dmmﬁa’u

(2) Three, Micropylar end
S, wodaorglo EE&J
(4) Three, chalazal end
Sare s, t‘iﬂ“ﬁé&ﬁ_}

Which species of Lycopodium has plectostele ?
Q B5°Phabo er@SE° ééém 856 Sogfo @okhH ?

(h

()

L. serratum
8. DPeo
L. selago

8. Derh’

(2) L. eernuum

8. DU
4) L. clavatum
8. E:E?e.m

_

Which plants show sunken stomata :

2 3ol BHeES SFlogros FOA wotnod?

(M

(3)

Nerium
HeaHo
Zea Mays
BIEDHE

(2) Nymphaea
~oadie

(4) Acacia
SRR

Which monocotyledonous plant shows abnormal secondary growth 7
D 255 Bm Iy oIonE 438ATDIHAR HrHHos?

O

(3)

Allium
2dabo
Avena

oI

(2) Dracaena
Ldﬁ:n::‘
(4) Bambusa

e oBIe

19
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In gymosperm phloem, which of the following cells are absent ?

D8 Do DY Fomreod® B &S BE G O Swren wodap?

(N Companian cells
e Hgren
(3) Sieve cells

Tren  Sares

(2)

(4)

Parenchyma cells
&30 ad:. Hegrew
Fiber cells

el Hogvew

Which gymosperm plant has vessels in its xylem ?

PHHE® orHaremen FOAS A1 Bes Sl 28?

(n Pinus
IES
(3) Gretum

Deo

(2)

(4)

Cycas
E}Eﬂﬁ
Taxus

ooyt

What is the shape of proteins in Fluid-Mosaic model of the plasma membrane ?

SRy deo Frond-dueronl JSrerd”t RPEN D emtod® wowran?

(n Globular
eeeseSore

3) Helical
S8heore

(£)

(4)

B-sheet
B-&&
Vesicular

Sodhedo

Which cell organelle is involved in cell wall formation during cell division ?

S Defmd SHahod? ¥m SS5So0 ANELoE® O Swrodo FPEToaod?

(nH Ribosome
BE R
(3) Glyoxysome
Ge &S

)

(C))

Lysosome
BE
Golgi complex
I'FE-SS uﬂ éﬂ

Which of the following plant is a root parasite ?

S (808 d6° Jo Soegy 42 3y 267

(1 Cuscuta
Hody e

(3)  Dodder
-1

(2)

“4)

20

Santalum
Foered
Dalbergia
aren) E-Eﬁr'
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The useful part obtained from Myristica fragrans is :

Ebﬁ?;;.m SRESy Sod obod G SBrREEDS grio

(1)  Seed
28 So

(3) Bud
ot

(2) Bark
BES

(4)  Arl
286

Which type of ribosomes are present in chloroplasts ?
o0 am&ﬁé': QD S¥o TERESnesoemon?

(1) 80§
(3) 508

(2) 80S and 70S
(4) 708

Which of the following is known as Reindeer Moss ?

% 808 86° ‘BSE6 S8 Deodwds H6?

(N Parmelia
Sﬂéé Halre
(3) Funaria

Hg3oage

(2)  Cladonia
& Rage

(4) Usnea
@y ae

The process of ‘Bolting’ is associated with :

‘62008’ (5805 88 SowododI

(1) Germination
dnedd o

(3)  Scenesence
28

(2) Flowering
Siposwo

(4) Apical growth
o 2HHhEe

Which of the following plant is a Halophyte ?
S 808 DEY DwEE° ‘a.ﬁé"‘ﬁeﬁ’ 287?

(1)  Acacia
@D air

(3)  Salicornia
FOE?G) e

(2)  Euphorbia
e PE8yae

(4) Eichornia
20g°0) ol

21
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ZOOLOGY
(Marks : 50)

The organism that belongs to Class Ciliata is :
d 82 Hosher JerrosH D[oBIA?

(1 Opalina (2) Ophiura
a.igm EoCinoe

3 Daphnia (4) Vorticelta
GrQdire :‘.‘SE?.)@:

Carrier molecules of the plasma membrane that facilitate transport are
E}:a‘&ﬁgﬁoé’ﬁ a5 ol s‘*d;,d: aed=y eomidhen

(n Carbohydrates (2) Proteins
- @8

(3)  Lipids (4)  Phospholipids
Eﬁ)q_,; aaﬁfﬂa@ 3}@,

Silk protein Fibroin shows the following structure :

Sen @ES pErons F (808 Il SrbSos

(N Primary structure (2)  Secondary structure
SEDE Qoo 8g8a% Rooywo

(3) Tertiary structure (4)  Quaternary structure
Ey8aH No°y 90 nﬁé::g Qoey 0

Cephalochordates live in :
?Ja_ﬁé“ﬂaﬂ'ge:‘ Hafee ADS® QDI 0w

(n Sea water (2) Fresh water
FE0EH A $0DAS

(3) _ Brackish water (4) Soil
GXPAE Sahgen Sed®

Which produces the tertiary egg membrane ?
D8 S 800 ©oFH:WEY) DEYHSHSH?

(n Ovary (2) Female genital tract
©oGEFaHo fg’ Deaeey
(3) Urethra (4) FSH
IS oS FSH
22
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Identify the primary consumer from the below given :
S (808 E° | FEDT JIArHHA HoSosd

(1)  Grass (2) Grasshopper
ﬁa sbises

(3 Bird (4) Owl
&8 ﬁaﬁf’iﬁm

Oxygen dissociation curve (oxygen equilibrium curve) is in the form of

e8ad dares T (sdes Shevd Cw) & OSorr aotwod

(1) Sigmoid (2) Hyperbolic
vy awé Eact] 5°05

(3)  Straight (4) J-shaped
L‘;'go:u&g J-esm=8o

The enzyme that relaxes tightly wound DNA strands by unknotting and creating transient breaks
in the DNA during replication :

S8586° O 0BH DHE&He HwwsdsS DNA e doyos Jogirod,
Heo o I Se SELI-N

(1 Helicase (2) Topoisomerase
Rl G oRENTR
(3 DNA polymerase (4) Ligase
DNA 988 88

In fishes induced breeding is carried out by injecting :
3s06® (288 (H=uges 8D gomf I IJw

(N Pituitary hormone (2) Thyroid hormone
ﬁnmgmﬁ aﬁ&'ﬂé‘;‘»ﬂ) Eﬂ'ﬁwc’i #Eaécﬂ:r

(3) Growih hormone (4) Melatonin
DS $86°% 2065

The average diameter of red blood corpuscle :
S G¥¥mo G Sl aeglo Dod?

(1) 4.3 microns (2) 6.1 microns
43 BedSen 6.1 SoEeSe
(3) 7.3 microns (4) 10.1 microns
73 Do _ 10.1 Soeden
23 A
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Plasmid is a :

FE o8

(1) Bacteriophage
wgaap &

(3) MI13 Phase
MI3 DE

(1) Porifera
8o

(3) Digenia
Efﬂ aiTe

www.sakshieducation.com

@)

@

(2)

(4)

DNA present in mitochondira
DE o BaeE® ay) DNA

Circular DNA besides a chromosome

B arE S8 0w ¢ Stheovesis DNA
Ciliated parenchymula larva is present in which Phylum ?

0o 'Ezdaguﬁnm Gogf¥o D SToSotHh FeH?

Hydrozoa
:ﬁ_‘uﬁaﬁaau

Protozoa

G E e

The only non-protein in the electron transport chain is :

QOES Sorae FToomd® J3Y 2SS GrERsD

(1) Cytochrome C
'Eef:'ﬁ 5'°& C

(3) Ubiquinone
a8 S'S

(2)

(C)

Succinate dehydrogenase
LS &’Eﬂ &*23E
ATP Synthase

ATP 2088

In Scoliodon, Ampullae of Lorenzini function as :

Dy dArarSET oo %0080 28 28?

(1)  Photo receptors

08 EdtEren

(3) Thermo receptors

& é | afeEen

X-shaped eye is found in :

)

(C))

X-ayh SFo E6° 52Dx08.

(1) Miracidium
sbormbabo

(3) Palaemon

28 S

)

(4)

24

Phono receptors
Fdw (e
Taste receptors
$HD  |edegren

Medusa

ST ) gaﬂ
Astropecten
g.ﬂ‘g Ti'.r;?'cg
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In Prokaryotes, the 70S ribosome is made up of the following subunits :
@0@reE® 708 BE°VESn S (808 &Y |(SSrmrest ST S8

(1 50S and 308 (2)
508 805w 30S

(3)  60S and 40S (4)
60S sH8a%n 408

Peptones belong to the category of :
?}Q}:mﬂ B Oel8 JoBSD

(1)  Simple proteins (2)
FSrSg DS
(3) Conjugated proteins (4)

Soahotfy @5&&@‘

508 and 208
505 8afw 208
60S and 108
60S sobéafw 108

Fibrous proteins
SoSHoed || DESL
Derived proteins
a8 @80

In which amphibian, the male protects the eggs in its spacious vocal sacs :

& aFdh SISod® Hva £ e

(1) Rhinoderma (2)
Eﬁﬂam ]

(3)  Nototrema 7))
SPGE o

The role of pacemaker in heart is to :

SoyBaod® ealefosso @ndy Jo

(1) Increase heart beat (2)
Frglah SHodsS dEp.Sdabeo
(3) Initiate heart beat (4)

FryBabEyoss |SREoB I ow

Endothelio chorial placenta is present in :

drodhd Ro§red® 885087
Rhacophorus

o555

Pipa

Dar

Decrease heart beat

FeyBSahSoss 5.8 dabwo
Control blood supply to heart

FegarRl O SE¥or daboBodwo

as::ﬁﬂﬁiﬁ—é'“ﬂn&:e? eordng) AJ6° dowwod

(1 Pig and Horse ()
Sod S:8ciw mfn
(3 Cow and Sheep 4

w) SHb8alw /70

25

Cat and Dog

20 S8 Hgy
Rat and Rabbit

dend H8d HoTen
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Which trophic level a herbivore occupies ?

@eEescd H D8N ;a;mrlﬁnr:ﬁ whHndod?

() st (2) 2nd
[usds Codsd

(3)  4th (4) 3rd
S8 S5 58

Ambulacral grooves are absent in which Class of Echinodermata :

womdB IS rden EESG Boger Gwdy H DecHdudols @od?

(1) Pelmatozoa (2) Ophiuroidea
_’uwéﬁﬁﬁaav e adivoronddle
(3) Crinoidea (4) Asteroidea
3 oronbale QI orondale

How many groups of chromosomes are found in human Karyotype 7

Sr38 POBFHES® §PrE S aly SSwdtear aowron?
(n s )" 7

(3) 10 4) 9

Human embryonic stem cells are first isolated by :

SreSS SHo# e Hoved DnSorr R SEDSE

(1) Watson (2) Crick
SPenS |85

(3)  Thomson (4) Gordon
NS mYS

The optimal dissolved oxygen levels required for prawn culture in the ponds :

$HodAS Eabge DoSwR8 Do BDHPHE® oHEroDS FBANY s8ed
gad

(1) 2to3 ppm (2) 5to7 ppm
2 Sow 3 ppm 5 &od 7 ppm
(3) 1 to 2 ppm () 0 to 3 ppm
1 oo 2 ppm 0 &0 3 ppm
26 BS
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What is the percentage of AB blood group persons in South India ?
58 wroE T¥oS® AB SESY Sgheo Soedd

(1) 5% (2) 20%
(3)  30% 4) 45%
One of the following structures are lodged in the notches located on both sides of rostrum in
Palaemon :
20585 |E°88 Bods rorged® He %88 STE0E® % (808 @ Jopcsves
E:a‘iad.:jma:an?
(1) Gils (2) Eye stalks
Sooayen € Syoeren
(3)  Pleopods (4)  Genital openings
D ard eddodab Coigren

Ultrafiltration of blood occurs in :
g8 Sn  clwly :ﬁ}'ﬂg&rﬁﬂﬁc nﬁﬁ’&.d Ethihsiod?

(N Bowman's capsule (2) Loop of Henle
FoHSy v _Srﬂé 3¥go

3) Proximal convulted tubule () Distal convulted tubule
By SoSVE. vFo Sroef SodsPE  oe¥Fo

Exchange of genes between populations :
Dot sIgre ﬁodg esdgde So8nG

(1)  Mutation (2) Selection
@805 0 S0 S8mo

(3) Gene flow (4) Genetic drift
2ig (Saedo 2085 E&%

Anapsid skull is present in :

oS HB 8IE° aowwod

(1)  Chelonia (2) Lepidosauria
865 Qo BLE FBase
(3)  Rhynchocephalia (4) Sgamata
805 Ok oy
27 A
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The following pair of ions are required for conduction of nerve impulse :

o8 (85°680 |SF00 TIaHards TIOY eotes s

(n Na' and K* (2)
Na* 8ok K
(3)  Ca®" and Mg?* )

Ca?* 8ot Mg?t

The end part of chromosome arm is called :

Mg?* and K*
Mg?" S8asn K
Ca®" and Na'
Ca?* 8c%w Na'

E°TrE’D @wd)y wrEwg DSE ey QSoeri?

(1)  Telomere ()
S5 a0

(3) Chromomere (4)
1E* 3o

6-amino purine is :

&ﬂ&}:_ﬁa aijvg@g

(1)  Adenine (2)
QEIS

(3)  Thymine -4
IS

Dolphins and whales belong to the order :

Centromere
o|E*WaHb
Karyotype
sﬁﬂﬁrn?;:_ﬁ

Guanine
Y
Cytosine
2E°DS

a“%egg H0aLy @offosves @ |FSrD8 F083?

(1)  Radentia (2)
5 adabe

(3)  Cetacea (4)
Hddase

Melatonin hormone is produced by :
DoE°DS I HH @B Iawss

(1) Thyroid gland : @)
Forawd (K50

(3)  Pineal gland @)
DN (Hod

28

Carnivora
aﬂﬁ&sﬂm
Lagomorpha
ﬂ"ﬁﬁ-ﬁ]‘ﬂ:}

Pituitary gland
beegeld Hod
Adrenal gland
QASSE |tod

BS
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Who gave the present status of independent phylum in Invertebrata for hemichordates ?

TrRTder 2o (SHE FIDS ©Fin Fod® (38 STo ITH Fuy?

(1)  Aristotle (2) Bateson
SEES B8E30

(3)  Hyman (4) Linnaeus
TS O S

Wallace divided the Earth into how many zoogeographical realms ?

PO drdoderdy Yy woH FUA%0Y Moderesac DBowsdh?
(n s 2) 6

3 7 (4) 8

Convex curve is not found in which population ?

Bogrmed S50 @ socordodh ESSE8?

(1)  Man (2) Rabbit
SredHE NP

(3)  Deer (4)  Sparrow
2o &g

Which is monogenic, enterobie, acellular and internal parasite ?

28 IeS"BI o Hnilrg Dok wodS Soedy £D7?

(1)  Entamoeba histolitica (2)  Ascaris lumbricoides
Dowdge  erTtBSse o300 edsranw &5
(3) Taenia solium (4) Plasmodium vivax
dlo0e FOa%o P bavo Ja8)

Artemia salina is an example for :

=8 Doasre 50 AD8 aoccio

(1)  Osmo conformer (2) Osmoregulator
ISFRFEE oHued SarBStn |Saeed
(3) Endotherm (4) Thermo regulator
©o86°% £ e FSHED
29 A
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In the respiratory system of pigeon, which type of air sacs is unpaired :
FPbo oys SgIPE® S Bod OEDS Panifme ©8508DID

(1) Inter clavicular type (2)
wodd mswe Oo

(3)  Anterior thoracic (4)
Srde a6 E¥o

Thermoregulation is under the control of :

Cervical type

Lﬁ&iﬁ Yo

Posterior thoracic
oS08y b 8¥o

aies FH8 8D Fgas0s® wowmod

(n Hypothalamus (2) Adrenal gland
Eocat- BN AESS 50d

(3)  Thyroid gland (4)  Thymus gland
Enﬁmg |f50d E:‘.S::E |Hiod

In lichens, the fungus depends on alga for :

GEIAAY 2dogren ISere D B8 egrESderon’

(1)  Minerals (2)
BT LTV

(3) Water 4
e

The first heart sound ‘Lub’ is due to :

Carbohydrates
QT
Protection
g8

o3 ¥y IS8 ¢ ‘od  AASoY HeothEol

(1 Awuricular diastole (2)
¥o5w & oo ]
(3)  Ventricular diastole (4)

88080 daPISS
Cell cycle occurs the following way :
Y| 8o

Se 8od QAo mlHHEE

Auricular systole
g E o ::a:é_
Ventricular systole
2808 E:Ef:é'

(1) G, Phase — S Phase — G, Phase — M Phase
G, &% - S 8% = G, ¥ > M &%

(2) S Phase — G, Phase — G, Phase — M Phase
S 8% > G, &% = G, 8§ - M &%

(3) G, Phase — G, Phase — S Phase — M Phase
G, &% - G, 8§ - S &% - M &%

(4) M Phase — S Phase — G, Phase — G, Phase
M &% — S 8% - G 8% — G, &%

30
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In a monohybrid cross, the genotypic ratio is :

2 Jo¥E SoEER0E® mHHgtes NS :

(y 3:1 2) 1:1:1:1

(3) 1:2:1 @ 4:0

The central dogma of molecular biology is :

9650 éé@ﬂg S0l dwodys 28?

1) DNA — rRNA — Protein (2) rRNA — | rotein — DNA
DNA — rRNA — 258§ RNA — %85 — DNA

(3) DNA — mRNA — Protein (4) Protein — DNA — (RNA
DNA — mRNA — 2%5 @3S —.DNA,— (RNA

An example for ketose sugar :

86°8 S8 o% aorste

(1) Glucose (2)  Ribose
o 35°E

(3)  Galactose (4)  Fructose
RS SETE

Clover leaf model of RNA is :

§°56 88 S&weorE® ady RNA 582

(1) m-RNA (2) -RNA
(3) = r-RNA (4)  c-RNA
Active transport requires energy in the form of :

S8ah Sarwe eSS ¥8 K T¥0E® @oewnod

()  ATP (2) ADP
(3 AMmP (4) IMP
31
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